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Natural language processing ( NLP ) is a field of computer science
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Natural language processing ( NLP ) is a field of computer science
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natural language processing ( nlp ) IS
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P_(LRBINN) = c(NN LRB)/c(NN) = 1/3

P_(language|NN) = ¢(NN - language)/c(NN) = 1/3
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# A7J 7_‘“—93?9:_& i "natural_JJ language NN ... |
make a map emit, transition, context
for each line in file
previous = “<s>” # MEEEiCS
context{previous]++
split /ine into wordtags with
for each wordtag in wordtags
split wordtag into word, tag with
transition[previous+* “+tagl++ # BB EKZ LT3
context[tag]++ # NRZ A LTS
emit[tag+* “+word]++ # ERZEHMA LTS
previous = tag
transition[previous+” </s>"]++
# BREMERZ L]
for each key, value in transition
split key into previous, word with
print “T", key, value/context{previous] 5
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natura

best_score[*1 NN"] = -log P_(NN|<S>) + -log P_(natural | NN)

best_score["1 JJ] = -log P_(JJ|<S>) + -log P_(natural | JJ)

best_score[*1 VB'] = -log P_(VB|<S>) + -log P_(natural | VB)

““
|

”\ \fl:LRB best_score[*1 LRB"] = -log P_(LRB|<S>) + -log P_(natural | LRB)

\
\

1:RRB best_score[*1 RRB"] = -log P_(RRB|<S>) + -log P_(natural | RRB)
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natural language

1:NN H bbeesstt__ssccoorree[[“21I\II\II\II\I’]’] +rt1|g1£§ P_(NN|NN) + -log P_(language | NN),
//’ best_score[*1 JJ"] + -log P_(NN|JJ) + -log P_(language | NN),
1:JJ /f/ best_score[“1 VB"] + -log P_(NN|VB) + -log P_(language | NN),
// best_score["1 LRB"] + -log P_(NN|LRB) + -log P_(language | NN),
1:VB // 2:\/B best_score['1 RRB’] + -log P_(NN|RRB) + -log P_(language | NN),

1:LRB| 2:LRB |

/ —————— Dbest_score[“2 JJ"] = min(
/ best_score["1 NN"] + -log P_(JJ|NN) + -log P_(language | JJ),
1'RRB| 2:RRB best_score["1 JJ] + -log P_(JJ[JJ) + -log P_(language | JJ),

best_score["1 VB"] + -log P_(JJ|VB) + -log P_(language | JJ), 16
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- [+1:</S>

best score[“/+1 </S>"] = min(

best _score
best _score
best _score
best _score
best _score

I NN"] + -log P_(</S>|NN),
1 JJ"] + -log P_(</S>]3J),

I VB"] + -log P_(</S>|VB),

"/ LRB"] + -log P_(</S>|LRB),

"/ NN"] + -log P_(</S>|RRB),
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make a map for transition, emission, possible tags

for each /ine in model file
split /ine into type, context, word, prob
possible tags[context] =1 # RAIRER Y 7' & UTIRTE

if type ="T"
transition[“context word’] = prob
else

emission[“context word”] = prob
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split /ine into words
| = length(words)
make maps best score, best edge
best score[‘0 <s>"1 =0 #<s>N5HEES
best edge[‘0 <s>"] = NULL
foriin0 ... /-1:

for each prev in keys of possible tags

for each next in keys of possible tags
if best _score["i prev’] and transition[“prev next’] exist
score = best score[’i prev’] +
-log P_(next|prev) + -log P_(word[i][next)

if best _score[‘i+1 next’] is new or < score
best _score['i+1 next’] = score
best _edge[‘i+1 next’] = "I prev”
# w&E. </[s>ICNUTHEUEEZITD
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tags =[]
next_edge = best_edge[ “1+1 </s>"]
while next_edge '= “0 <s>”
# DI YDamEEE L ICEN
split next_edge into position, tag
append tag to tags
next_edge = best_edge[ next_edge |
tags.reverse()
join tags into a string and print
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/Ei'jEl_JFFﬁIEE
e train-hmm & test-hmm Z3E%E
e« TAK:

« AJJ: test/05-{train, test}-input.txt

\Ef#% . test/05-{train,test}-answer.txt

» data/wiki-en-train.norm_pos Zf£> TETILZ=FH
L. data/wiki-en-test.norm [CX} U Capzal#EE Z 1T D

» msAEE DMEREZ F Ml L TS :

script/gradepos.pl data/wiki-en-test.pos my_answer.pos

» LikiR - BEZFR LIEDIHEZZAD
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